



**UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS** Linear partial differential equations of second order with constant coefficients of homogeneous types

Linear PDE 
$$\frac{1}{1}$$
 with constant coefficients  
Homogeneous Linear PDE's:  
A Linear PDE with constant coefficients  $R_{1}$  which  
all the postial derivatives are  $R_{2}$  the same order is  
called homogeneous, thereasize it is called non-homogeneous  
Example!  
Homogeneous Equation:  
 $\frac{\partial^{2} z}{\partial x^{2}} + 5 \frac{\partial^{2} z}{\partial x_{2}} + 6 \frac{\partial^{2} z}{\partial y_{2}} = sinx.$   
Non Homogeneous Equation!  
 $\frac{\partial^{2} z}{\partial x^{2}} - 5 \frac{\partial z}{\partial x} + 7 \frac{\partial z}{\partial y} + \frac{\partial^{2} z}{\partial y^{2}} = e^{2x}y$   
Notation!  $D = \frac{2}{\partial x}, D' = \frac{2}{\partial y}$   
Method of finding Complementary function (CF):  
Let the given equation be of the form  
 $f(D, D') z = f(x, y)$   
Put  $D = m$ ,  $D' = 1$   
 $f(m_{1}) = 0 \Rightarrow aom^{2} + a_{1}m^{2} + ... + a_{1} = 0$   
Let the sects of the gap be  $m_{11}m_{2}..., m_{1}$   
Notes (orgeneotrony function  
1. The Roots are different  $CF = f_{1}(y+m_{1}x) + f_{2}(y+m_{2}) + ... + m_{1}a_{1}m_{2} + ... + m_{1}a_{1}m_{2}m_{2} + ... + m_{1}a_{1}m_{1}m_{2} + ... + m_{1}a_{1}m_{2}m_{2} + ... + m_{1}$ 

#### **UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS**

Linear partial differential equations of second order with constant coefficients of homogeneous types

Goreral solution is y=cF+PI RHS=0 (Z=CF) 1. Solve  $(D^2 - 6DD' + AD'^2)z = 0$ Put D=m, D'=1 The auxillary equation is, m2-6m+9=0 (m-3)(m-3) =0 m= 3,3 (equal) The solution is Z = CF=  $\frac{1}{2}$ ,  $(y+3x) + x\frac{1}{2}(y+3x)$  $1 = \frac{1}{2} =$ The auxillary equation is,  $m^2 = 5m + b = 0$ (m-3)(m-2)=0 m= 2,3 Replace  $PI = \frac{1}{D^2 - 5DD' + bD'^2} e^{xty}$ D-> a =1 = <u>|</u> x+y The solution is 2= CF+PI = \$1(y+2x)+\$2(y+3x) + =2

#### **UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS**

Linear partial differential equations of second order with constant coefficients of homogeneous types

$$3 \times 3^{n} \cdot 3 \text{ Solve} : (p^{2} - 40p' + 4p'^{2}) z = e^{2N+49}$$
The auxillary equation 2s  

$$m^{2} - 4m + 4 = 0$$

$$(m - 2)(m - 2) = 0.$$

$$m = 2, 2 \quad (equal)$$

$$CF = \frac{1}{9}, (9 + 2x) + x \cdot \frac{1}{9} \cdot (9 + 2x)$$

$$PI = \frac{1}{2^{2} - 4(2)(1) + 4(1)^{2}} \quad \text{Replace}$$

$$= \frac{1}{2^{2} - 4(2)(1) + 4(1)^{2}} \quad e^{2N+49}$$

$$= x \frac{1}{2^{2} - 4p'} \cdot e^{2N+49}$$

$$= x \frac{1}{2^{2} - 4p'} \cdot e^{2N+49}$$

$$The solution 2s \quad z = CF + PI$$

$$= \frac{1}{9(14 + 2x) + x \cdot \frac{1}{2} \cdot \frac{2^{2N} + 9}{2^{N} + 2} \cdot \frac{1}{2^{2}} e^{2N}$$

$$f(\frac{1}{8} - 2x) + x \cdot \frac{1}{2^{N}} e^{\frac{1}{2} - 4}$$

$$f(\frac{1}{8} + 2x) + x \cdot \frac{1}{2} \cdot \frac{2^{N} + 9}{2^{N} + 2} \cdot \frac{1}{2^{N}} e^{2N}$$

$$f(\frac{1}{8} - 2x) + \frac{2^{N} - 2^{N}}{2} = 0.$$

$$A \cdot E \quad 2s \quad Am^{2} + 5m + 3 = 0$$

$$Am(m+2) + 1(m+2) = 0$$

$$(am+1)(m+2) = 0 \quad m = 1, \text{ a m} = -3$$

ZIMATZUI- PARTIAL DIFFERENTIAL EQUATIONS & TRANSFORMS DEPT OF MATHEMATICS

**UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS** Linear partial differential equations of second order with constant coefficients of homogeneous types

$$\begin{aligned} \begin{split} & (f_{i}) = (f_{i}) = (f_{i}) + (f_{i})$$

#### **UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS**

Linear partial differential equations of second order with constant coefficients of homogeneous types

23MAT201- PARTIAL DIFFERENTIAL EQUATIONS & TRANSFORMS DEPT OF MATHEMATICS

**UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS** Linear partial differential equations of second order with constant coefficients of homogeneous types

$$PI = \frac{1}{D^{2} - DD' - 200^{1/2}} e^{5x + y} \qquad D = 5, D' = 1$$

$$= \frac{1}{(5)^{2} - (5x(1) - 30(1))} e^{5x + y} = \frac{1}{3^{2} - 5 - 30} e^{5x + y}$$

$$= \frac{x}{9D - D'} e^{5x + y} = \frac{x}{9(5) - 1} e^{5x + y}$$

$$= \frac{x}{9(5) - 1} e^{5x + y}$$